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R17M3 spectral tristimulus values Ysum=100
z−R17M3,s(λ)=A31l

−
R17M3,s(λ)+A32m

−
R17M3,s(λ)

+A33m
−

R17M3,s(λ)
A3j 0,000 0,000 1,2500 (λ=440)

D65:Σz−R17M3,s(λ)=131,96
xR17M3,s=0,2918
yR17M3,s=0,3049
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R17M3 spectral tristimulus values Ysum=100
z−R17M3,s(λ)=A31l

−
R17M3,s(λ)+A32m

−
R17M3,s(λ)

+A33m
−

R17M3,s(λ)
A3j 0,000 0,000 1,2500 (λ=440)

D50:Σz−R17M3,s(λ)=99,75
xR17M3,s=0,3201
yR17M3,s=0,3370
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R17M3 spectral tristimulus values Ysum=100
z−R17M3,s(λ)=A31l

−
R17M3,s(λ)+A32m

−
R17M3,s(λ)

+A33m
−

R17M3,s(λ)
A3j 0,000 0,000 1,2500 (λ=440)

P40:Σz−R17M3,s(λ)=79,81
xR17M3,s=0,3501
yR17M3,s=0,3566
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R17M3 spectral tristimulus values Ysum=100
z−R17M3,s(λ)=A31l

−
R17M3,s(λ)+A32m

−
R17M3,s(λ)

+A33m
−

R17M3,s(λ)
A3j 0,000 0,000 1,2500 (λ=440)

A00:Σz−R17M3,s(λ)=46,12
xR17M3,s=0,4127
yR17M3,s=0,3984
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R17M3 spectral tristimulus values Ysum=100
z−R17M3,s(λ)=A31l

−
R17M3,s(λ)+A32m

−
R17M3,s(λ)

+A33m
−

R17M3,s(λ)
A3j 0,000 0,000 1,2500 (λ=440)

E00:Σz−R17M3,s(λ)=124,91
xR17M3,s=0,3076
yR17M3,s=0,3077



BE561−6A_1

wavelength λ /nm
400 500 600 700

0,0

2,5

5,0

7,5

10

R17M3 spectral tristimulus values Ysum=100
z−R17M3,s(λ)=A31l

−
R17M3,s(λ)+A32m

−
R17M3,s(λ)

+A33m
−

R17M3,s(λ)
A3j 0,000 0,000 1,2500 (λ=440)

C00:Σz−R17M3,s(λ)=141,68
xR17M3,s=0,2904
yR17M3,s=0,2946
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R17M3 spectral tristimulus values Ysum=100
z−R17M3,s(λ)=A31l

−
R17M3,s(λ)+A32m

−
R17M3,s(λ)

+A33m
−

R17M3,s(λ)
A3j 0,000 0,000 1,2500 (λ=440)

P00:Σz−R17M3,s(λ)=101,47
xR17M3,s=0,3312
yR17M3,s=0,3303
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R17M3 spectral tristimulus values Ysum=100
z−R17M3,s(λ)=A31l

−
R17M3,s(λ)+A32m

−
R17M3,s(λ)

+A33m
−

R17M3,s(λ)
A3j 0,000 0,000 1,2500 (λ=440)

Q00:Σz−R17M3,s(λ)=154,47
xR17M3,s=0,2855
yR17M3,s=0,2832


